
Pr
op

rie
tà

 d
i u

n 
al

go
rit

m
o

L’
 a

lg
o

ri
tm

o
 d

ev
e 

es
se

re
:

L’
 a

lg
o

ri
tm

o
 d

ev
e 

es
se

re
:

Fi
n

it
o

Fi
n

it
o
, , 
co

st
itu

ito
 c

io
è 

da
 u

n 
nu

m
er

o 
lim

ita
to

 d
i p

as
si

 (
le

 
is

tr
uz

io
ni

 s
on

o 
in

 n
um

er
o 

fin
ito

 e
 v

en
go

no
 e

se
gu

ite
 u

n 
nu

m
er

o 
fin

ito
 d

i v
ol

te
);

D
ef

in
it

o
 (

n
o

n
D

ef
in

it
o

 (
n

o
n

--a
m

b
ig

u
o

)
am

b
ig

u
o

),
 , 
og

ni
 is

tr
uz

io
ne

 d
ev

e 
es

se
re

 
el

em
en

ta
re

 e
 d

ev
e 

co
ns

en
tir

e 
un

’in
te

rp
re

ta
zi

on
e 

4

el
em

en
ta

re
 e

 d
ev

e 
co

ns
en

tir
e 

un
’in

te
rp

re
ta

zi
on

e 
un

iv
oc

a;;
Es

eg
u

ib
ile

Es
eg

u
ib

ile
, , 
ci

oè
 la

 s
ua

 e
se

cu
zi

on
e 

de
ve

 e
ss

er
e 

po
ss

ib
ile

 c
on

 g
li 

st
ru

m
en

ti 
di

 c
ui

 s
i d

is
po

ne
;;

D
et

er
m

in
is

ti
co

D
et

er
m

in
is

ti
co

, , 
ad

 o
gn

i p
as

so
 d

ev
e 

es
se

re
 d

ef
in

ita
 

un
a 

ed
 u

na
 s

ol
a 

op
er

az
io

ne
 s

uc
ce

ss
iv

a..
G

en
er

al
e:

 
G

en
er

al
e:

 u
n 

al
go

rit
m

o 
ris

ol
ve

 u
na

 c
la

ss
e 

di
 p

ro
bl

em
i: 

la
 

de
sc

riz
io

ne
 d

el
l'a

lg
or

itm
o 

no
n 

ca
m

bi
a 

qu
an

do
 c

am
bi

an
o 

i d
at

i. 
U

n 
al

go
rit

m
o 

è 
qu

in
di

 in
di

pe
nd

en
te

 d
ai

 d
at

i i
n 

in
gr

es
so

.


